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whegrfal & fore wew fEw -
GEN/RAL INSTRUCTIONS TO THE EXAMINEES :
1) - Qerefl wewum o wyA-w W AwE aifvarda: ford)
>andidates must first write their Roll Nos. on the question paper compulsorily.
2) roft W g T sifa §
All the questions are compulsory.
3) 1AF T w1 TR @ sw-giee § @ fordl
Write the answer to each question in the given answer-book only.
4) R wgai ® aaies @S g, 39 gHl & IR TH T § o)
Answers of the questions with internal division should be written at one place.
5) v w1 ¥ 6 o (Fgfaemedta weAt) % I AT St se-uit i
fora |
Draw a table in your answer-book and give answers of Question Numbers 1
to 6 (M.C.Q's) m it.
6) it Wyt % ik I WO IR €
Weightage of the question is written infront of the question.

7 sy 3 fadt ofte it waier ¥ Frelt BT R 3fe/ st/ e 2% w et E
i
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T UF W Wiew & o avi ord
TEAR HERE TO OPEN THE QUESTION PAPER

wTaT ¥ TR F1 @ e A

_ - diction in Hindi and Enelish ' f
If there is any error/difference/contradiction in nglish versions o '
the questio nypaper, the question of Hindi version should be treated valid. E
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1) witra den —< = dieg wfeim 3-  RBSEonline.com

2)

3)

4)

S)

5
W (%) 1
3 5
(@) = —
5 (3) 3
Additive inverse of rational number —g IS -
@ 0 (b) 1
3 5
(c) 5 | @ -3
TE Tx2y T GAEE g -
(31) Txy (@) -10x%y
(®) 7 () 7x2
Like term of expression 7x%y is -
(@) 7xy RBSEonline.com (b) -10x%
() 7 (d) 7%
N-¥SAT ST FEHS H I RV K AT W HA 2
(1) (n —4) x 180° (@) (1 -2) x 90°
(@) (n—3) x 180° @) (n-2)x 180°
The formula for sum of interior angles of n-sided polygon is -
(@) (n—4)x 180° (b) (n—2) x 90°
(©) (n—3)x 180° (d) (n-2)x 180°
uR § Tt dr € gl §-
(1) 12 (@) 8
(@) 6 (z) 10
Number of faces in a cube -
(a) 12 (b) 8
© 6 (d 10
Wﬂﬁ\—ﬂ <Rl Tﬂr‘f "TQFf B~
(ax)u-aﬁgmmﬁ?ﬁ%l (7) Foreot wwm B §)
(@) Rraot oRE EfgWIT F El (7) Forevt wer g B §
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6)

7)

8)

3
Which is not a property of rhombus - -

() allsides equal RBSEonline.com
(b) diagonals equal
(¢) diagonals bisects each other

(d) diagonals are perpendicular to each other

o T H G U W HEAT A T W §- [1]
1 1
(39) 2 (=) 5
1
@ 3 @ 1
Probability of getting a even number when a dice is thrown, is -
1 |
@ 3 ®) ¢
(©) % RBSEonline.com @ 1
avTea que faf grr 9261 @1 wege A i [2]
Find cuberoot of 9261 by prime factor method.
fyrferfaa swuTat @ ufawm #§ ufafda ffe- 2]
) Z2:3
i 3:4
Convert following ratios into percentage -
y 2:5
i 3:4 _
(2]

9) sia® m?— 10m + 21 % TurAss Hf

10) foret srgureren & Wit oY HEaT 9 AR BerH A Fww 9 } A 3wk Wi W 7w

UP-09-Maths.

Factorize the expression m?— 10m + 21.
(2]

Hifemg| :
Find number of edges in a polyhedron which have 9 vertices and 9 faces.
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11) Rw=ifha amdrm =t Y@ yyt % s ditit-  RBSEonline.com

12)

13)
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i) @t ABCD % 3¢ A e vfid D & fdvries ferRaal

i) oot BD #t g sams|
Answer the following questions by seeing the graph given below -

X

RBSEonline.com

A

]
7
1
5
4
3
2
1
0 & 5

i)  Write coordinates of vertices A and D of square ABCD.
i)y  Write length of diagonal BD.
AT &Y § &ah hifag- 4]
)  15,00,00,000
i) 0.0000067
Express in standard form -
i)  15,00,00,000
1) 0.0000067
) A® A FATEA| W@ ATF 3 g

1A

XA

9A
i) Awen B @ AW wasd| Wl AT B U o g

A2

+6 3.7 | _
5 A RBSEonline.com | s 4]
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i)  Find the value of A, Where Ais a digit.
1A
x A
9A
i) Find Aand B. Where A and B are digits.
A2
+637
B2 A
14) e 93 %1 3wam w1 o fife- 14
103 x 103 x 103

RBSEonline.com

. JFeqaT
eeratrer At #1 wam w3 wm Hikn-
18542 + 52
Multiply by using Nikhilam formula -
103 x 103 x 103 :
OR

Divide by using Dhwajank Method -

18542 + 52
15) == % UGS Th WA df- | | [4]
(Z2-4z-12)+ (z +2)
Factorize the expression and divide -
(Z2-4z-12)+(z+2) RBSEonline.com
16) = strpfa & sgma wwi x, 3, z 99T w % "W A SR [4]

17) e wrergsisr ABCD a1 e 264 o &t & af¥ gt wa foamt AC = 24 et 3 4

ferot BD &Y wiq wTsd | | . [4]
Area of a thombus ABCD is 264 cm? [f length of its one diagonal AC = 24cm then

find length of diagonal BD.  RBSEonline.com
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6 2+2=,

18) ﬁamﬁmmmﬂwﬁgwm RIS
) (5x-3)(5x+3) -
i) 103 x99 RBSEonline.com
Find the product using suitable identity -
0 (5x-3)(5x +3) |
i) 103 x 99 _— g at sEht
19) v armam ) o, < & 3 e st 21 Afg 39 L ﬂ?‘?
3R =terd e Hifvm) If its perimeter 1S 54 mete
Length of a rectangle exceeds its breadth by 3 meter. 1115 P
then find its length and breadth. 45° gt
- _ el STEd I 4]
) TF AHEgs At yomeit i wet 7 hifg, afe gaet h exterior angle is 45°,

Find the number of sides of a regular polygon if its eac

21) 1 R wrt g wrré +F e e gRY St Merfr w¥ fRd T Wl Fl?([if?r
™™ 2l .
WaHTE altd |/ a9mEd
] 0% TR gRT Algd AT
e gemite argw wemn S 4— ATE T THE AIATgel Wi T IUDNT HE
wifa &9 § g -gamT
uré =d Y wErEar & Prfafa wwAt % s Afre-
D TS Wit @ At werm ofR fae ¥t aTga wemt W et fnet wher e
e ma? RBSEonline.com
i) STEEEH GRI AR T AUT TEF A A6 WS B IUAT FO
Tl % fevra § fRaem o 8 7 A -

Following pie-chart represents percentage of penalties on various mistakes of
automobile drivers. .

Dangerous driving —

v Driving by Minor
Driving without helmet

45% w Using mobile phone whjle driving

Using horn silence zone

With the help of pie-chart answer the following questions -
i)  Write total percentage of penalties on dangeroys driving and driv: shout
riving withou

helmet.
i)  Write difference of percentage of penaltjeg

on driyy . ;
mobile phone while driving - fIving by minor and using

RBSEonline.com
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22) 124,000 %1 8% =it saw R 11, ad 1 wmaty SA T Bifdve, e =

= ¥ R RBSEonline.com [6]
wE o
UF T Y e § why af 8o | afy we it FduR wEEa 17,496
?ﬁza&qﬁmﬁaﬂﬁwmﬁﬁ?mg |

Emd compound interest of 324,000 for 1% years at the rate of 8% per year, when
Interest is calculated yearly.

OR
The Population of a town increases at annual rate of 8%. If present population of
town is 17,496 then find population of town before 2 years.
23) T wHugdw PQRS HY wamt Bifere Frerk frsvot PR e QS @i sadat wwen: 8 A
T 10 &Y §) (6]

Construct a rhombus PQRS whose diagonals are PR = 8cm and QS = 10cm.

24) T SR T ash gefta Seweer 880 =t e 2, Rradt Surd 10 wiex 3| Ao w1 svgaw A
HIfeI(n = 22/7 3wdm =)  RBSEonline.com [6]

HAAT

Teh U Sl qT 7 e, Rt woqut et dmwe 1014 =t @t 31 sa@ swes ot
T )

Curved surface area of a cylinder is 880 m?, whose height is 10m. Find volume of
cylinder. (Use = =22/7)

OR
Determine side of a cube whose total surface area is 1014 cm?. Find its volume
also.
25) Py afRret ¥ oW a Y YW T ook AR % W oo wfifere- (6]
hy=rT(Et ®) 4 5 6 i

R (3 H) 16 | 20 24 | 28
According to the following table, draw a graph between side and perimeter of

square -
Side (in cm) 4 5 6 ;8
Perimeter (in cm) 16 =~ 28 24

¢ ¢ 0
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